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Find the reason for the bug in error of efficiency.
It is due to misuse of TGraphAsymmeErrors::BayesDivide().

MC Efficiency in Polar Angle
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Use Monte Carlo events as total events to calculate

efficiency Nn=RC/MC

cos(0)



Efficiency in Polar Angle

- L— 7290mm . .
g
g 1 — —
= C g g
Yoke/Muon “60 98— e '—I—"_I_'_I_:—I—I—I—'—I—:_I_' —
O —H i
[ 4400mm 0.96—
0.94—
— Coll -
L— 3380mm 092
—— Heal 09
— ECal 0.88—
> 1810mm N
0.86
— TPC - +
- 0.84 —
> 329mm - T
0.82(—, | | | | |
: | . -1 -0.5 0 0.5 1
[ Yoke/Muon l HCal QD0 LumiCal P Vertex cos(0)

6983mm 4143mm 2350mm

Low efficiency at double sides is due to coverage,
Error is bigger at double sides.

CosB of ECal inner side is 0.792;

That of HCal outer side is 0.775.



